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No supplementary answer-book will be given to any candidate. Hence the candidates should write the
answer precisely in the main answer-book only.
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Answers 1o short answer-type questions must be given in sequential order. Similarly, all the parts of one
question of descriptive part should be answered in one place in the answer-book.
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Write your roll mumber on question paper before start writing answers of questions.
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Note:- Question paper consists of Two parts A and B.
g9 77 7 & 97 31 37k § &8

Part-A: 20 marks SR1-31: 20 3/%
Part A is compulsory having 10 very short answer-type questions (with a limit of 20 words) of
two marks each. The first question is based on knowledge, understanding, and applications of the
topics/text covered in the syllabus.
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Part-B: 60 marks 911-8: 60 3i®

Part B of the question paper is divided into four units comprising question mumber 2-5. There is one
descriptive question from each unit with internal choice. Each question wiif carry 15 marks.
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Part-A/q01-31

[10%2=20]

l. (1) What are the use of box-plot?
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(i1) Define frequency distribution.
FRERAT de4 BT TR Do |

(iii)  Find the coefficient of variation of first ten natural numbers.
FOTT 10 TIGiE s 1 el Ond wd Do |

(iv)  Give two examples of ratio scale.
FUIRIS WG & 2 &R Ao |

(v)  Write the normal equations for fitting of second degree curve.
i e o & e wweg eiieRy @ fofae

(vi)  Define the concept of attributes.
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(vil)~" Define ordinal scale.
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(viii) Show that correlation coefficient is th
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ged in ascending order.

¢ geometric mean of the two regression coefficients.

(ix) The following data have beeen arran
8, 11, 13, 15, X+2, X+4, 30, 32, 35, 41, [f median of the data is 24. Find X,
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8. 11,13, 15, X+2, X+4, 30, 32,35, 41 ofY sricet oY Wit 24

ga?xﬁmﬁraﬁﬁraf

) . . . v then fi o variance.
(x)  If the value of fI, and s, is 5, 80 respectively: then find the ¥ >
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Part-B/am-g
Unit-1/5®7$-1
2 (a)  Define primary, secondary, discrete and continuous data with example. 18+7]
JeTERVT & A Wi, fgda, srad 3k waa sidel @ aRefa S5 |
(b)  What do you understand by tabula;tion? Explain different parts of a standard table,
Wémm%%?%ﬁmmﬁm%ﬁfmmﬁmn
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What are advantages of diagrammatic representation of data? Describe Ogive and frequency
curve with suitable example. What are the uses of ogive curve? [15] |
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Unit-11/z®E-11

3. What is meant by dispersion? What are the different methods for computing dispersion? Show that
variance is independent of change of origin but not on scale. {15}
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OR/3rm@n
(a)  Derive formula for the median of a continuous frequency distribution. [9+6]
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(b)  Define geometric mean. Write two demerits of geometic mean. Show that geometric mean
is greater than or equal to harmonic mean.
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Unit-IT/ger$-111
4. Explain the principle of least square. Fit a curve y=a+bx and exponential curve for a set of'n pomnts
(xh yl)v(x2’ )’2 ) pitlateming "(Xn’yn) OFX and Y- [15}
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OR/3rian
(a)  Calculate the Yule's coefficient of association between attributes A and B given that- [6+9)
(AB) = 50,(AB) ="79,(ap) = 782,(af) = 89
ot AR B & fore g & wread qoiie @1 i, far mar £ s
(AB) = 50,(4B) =79,(af) = 782, () = 89
(b)  For a consistent data relating to three attributes A, B and C. Prove that-
(AC)Y+(BC)~(4B) <(C)
N Tt A, B 3R ¢ ¥ it s S e Rig aRe B
(AC)+(BC)-(4B) <(C)
Unit-IV5oE-TV

Derive an expression for Spearman's rank correlation coefficient. What do you do in case of re-
peated ranks. [15]
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What do you mean by correlation coefficients? Show that it is unaffected by the change of origin
and scale. Find the correlation coefficient for the data.

X: 2 3 4 5
b6 5 4 3
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X: 2 3 4 5
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